Math 100
American River College

1. (10 points) Simplify the radical expressions
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2. (10 points) Solve the variation problems.

a. yvariesdirectly as x and y = 4 when x = 20. b. yvariesinversely asx and y = 8 when x = 10.
i. State the variation equation. i. State the variation equation.
ii. Find the constant of variation k ii. Find the constant of variation k
iil. Find the value of x when y = 5. iiil. Find the value of y when x = 20.
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3. (12 points) Rationalize the denominators
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(12 points) Simplify the expressions. Write answers in exponential form and with positive
exponents.
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5. (20 points) Simplify the radical expressions.
a. (3points) Vva+ 4/Ja —2+a

= |2Va
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6. (20 points) Soive each equation for x.

a. {3points) (x—5)?=36 b. (3 points) (x+2)?=-25
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c. {6 points) Solve this equation by using the quadratic equation.
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d. (8 points) Solve this equation by using the completing the square.
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7. (16 points) Solve the radical equations.
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Bonus: Solve the equation for x by using any method (factoring, completing the square, or quadratic
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